Y3 Maths Home Learning
Week beginning 29.06.20 (Week10)

Double 2-digit numbers

1. Start by reading through the Learning Reminders. oo

Round decimals to the nearest whole, nd hundredth.
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2. Tackle the questions on the Practice Sheet (Mild T
and Hot). N——
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?
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4. Have | mastered the topic? A few questions to ey sl of e n e elewin nmber

{a) 3.407
Check your understanding. 0 oo

(d) 5.104

Fold the page to hide the answers! 0

How many times must Dan multiply 0.048 by 10 to get 48,0007

What number is one hundred times smaller than 0.4?
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Learning Reminders

Revise doubling numbers to 50 using partitioning.

- What is double 27?

Double the 10s.
Double the 1s.

Add your two
answers.

We worked it out
using partitioning. Partitioning means

we split the number
;into 10s and 1s.

48 ’ Revise doubling numbers to 50 using partitioning.

SpOiler \Iert Have a go at doubling

28 | ﬂ Answers! | T ortoning.

7,
EC 9. =)

ﬁ‘ E 39/ 26@—'

© Hamilton Trust Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton

We doubled each
part then recombined
- the parts.

Revise doubling numbers to 50 using partitioning.

Have a go at doubling
these numbers using
partitioning.




Learning Reminders

Revise doubling numbers to 100 using partitioning.

ﬂat is double@

Double the 10s.
Double the 1s.

Add your two
answers.
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Revise doubling numbers to 100 using partitioning.

What happens when we
try to double these
numbers using
partitioning?

Revise doubling numbers to 100 using partitioning.

8 5 | What happens when we
— try to double these The answers are all
numbers using greater than 100. 8 5 ’
9 7 Spoiler Alert partitioning?

78 ’ — Answers! 78 97 194 ] 170
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Practice Sheet Mild
Doubling numbers

Double the following numbers using partitioning:
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Now try these:
7. 55
8. 73
9. 48
10. 61

»
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Practice Sheet Hot
Doubling numbers

Double the following numbers using partitioning:

® O H A @& «
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Now try these:
7. 75
8. 66
9. 89
10. 97

»
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Practice Sheets Answers

Doubling numbers (mild)

14 10+ 10=20 So double 14is 20+ 8 =28
22 20+ 20=40 Sodouble22is40+4 =44
36 30+30=60 So double 36is 60 + 12 =72
27 20+ 20=40 So double 27 is 40 + 14 = 54
44 40 + 40 =80 So double 44 is 80 + 8 = 88
39 30+30=60 So double 39is 60 + 18 =78

_‘ Challenge }

55 50 + 50 =100 So double 55is 100 + 10 = 110

73 70 + 70 = 140 So double 73 is 140 + 6 = 146

48 40+ 40 =80 So double 48 is 80 + 16 = 96
60+ 60 =120 So double 61 is 120+ 2 =122

*

* & © H A @

y

Doubling numbers (hot)

39 30+30=60 So double 39is 60 + 18 =78
52 50 + 50 =100 So double 52 is 100 + 4 = 104
73 70 + 70 = 140 So double 73 is 140 + 6 = 146
61 60 + 60 =120 So double 61is 120+ 2 =122
48 40 + 40 =80 So double 48 is 80 + 16 = 96
57 50 + 50 =100 So double 57 is 100 + 14 = 114
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Challenge

70 + 70 = 140 So double 76 is 140 + 10 = 150
60 +60=120 So double 66is 120 + 12 = 132
80 + 80 =160 So double 89 is 160 + 18 = 178
90 + 90 = 180 So double 97 is 180 + 14 = 194
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ﬁ% Work in pairs %‘%
%7 Things you will need: ﬁ
* Two sets of 10s and 1s place value cards %

* A pencil e?
W

What to do: %%
+ Choose a number from the grid to double. R i@
Make the number with place valuecards. ~ W

~ | D i @

¢+ Partition, double each part then combine your _Double 46 is 92 ﬁ
answers. If you find it helpful, draw a jotting. » %
| @

¢ Write the doubling sentence. ~ %jﬁ
+ Score 1 point if the 10s digit in the answer is : 80 %
even. Score 2 points if the 10s digit in the ol e %@
answer is odd. JE ‘%

¢ Repeat for as many numbers as you can. ?;
Can you score more than 10 %
points altogether? %
A0

26 34 49 27 %

37 23 15 41 ,
18 45 32 46 %

N N

S-t-r-e-t-c-h: %
Write a number not on the grid, which when doubled will give a 0 in the 1s place. %
/o

ok

Learning outcomes @

¢ | can double 2-digit numbers up to 50 (including those where the 1s come to more than 10). T‘Q
)y
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Place Value Cards
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Check your understanding
Questions

Write the missing number in each diagram.

56 56

74 74

Double 1. Double your answer. Carry on doubling your answer until you get an answer greater than 100.

Double 3. Double your answer. Carry on doubling your answer until you get an answer greater than 100.

Fold here to hide answers.

Check your understanding
Answers

Write the missing number in each diagram.

112
56 56

148
74 | 72

Double 1. Double your answer. Carry on doubling your answer until you get an answer greater than 100.
2,4,8,16,32,64,128

Double 3. Double your answer. Carry on doubling your answer until you get an answer greater than 100.
3,6,12, 24,48, 96, 192
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